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Instructions for the candidates :

Candidate must enter his / her
Question Booklet Serial No.
(10. Digits) in the OMR Answer

Sheet.

Candidates are required to give their
answers in their own words as far
as practicable.

3. qWEAr 3 gt W ﬁ'# BT 3F qUIE Figures in the right hand margin
ez ad 1 indicate full marks.

4. [¥El @ WFIEZ#%' # o 15 minutes of extra time have been
i #9715 e #1 JJﬁﬂ??T W allotted for the candidates lo read
fear mar 1 the questions carefully.

5. 4% 9v7 yicenr g @Uel § §— @8- This question booklet is divided into
od @vg-a | two sections — Section-A and

Section-B.
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I Section-A, there are 10() objeciive
fupe  teeshons i euch  ogrring
1 markl oul o which any
50 quest: % arr to be answered
First 50 answers unfl be evaluatesd
by the compmiler in case more thae
50 guestions arc answered Darken
the circle with blue / black ball
pen agumnst e eorrect uptian on
OMR Ansuwer shieet providedd to yon
Do not use whitener / liquid /
blade / nail cte. on OMR-sheet,
otherwise the result will be
invalid.

In Section-B, there are 30 short
answer _type questions (cuch
currying 2 marksj, uut of which any
15 questions are to be answered
Apart from this, there are 8 long
answer type questions  (euch
carrying § marks), aut of wheh any
4 questions are to be answered

Use of any clectronic appliunces is
stnetly prolubited.
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Question Nos. 1 to 100 have four options
)

_ _ out of which only one is correct. Answer any
50 questions. You have to mark your select

ed option on the OMR.Sheet. 50x1=50

1\ cosmtlzx?

R Lo x2 e  (x|s1)

(B) 2sin'x

(D) tan™!2x

B)  sin~!(3x +4x°)

(C)  sin™(3x - 4x3) D)  sin~}(3x3 - 4x)
3 tan~! [—_-l] =
3
E n
W, 3 B %
T T
© -3 D -%
4. sin(sec™! x+cosec” ' x) =
I B 0
© -1 D) 1
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1 g
5. Qtan—'*g*““" 7 (B)
x o
w2 (D)
© 7
1 4 .q.ﬂmﬂ? |
6. AT |3 8 {ﬁ} )
3 WS A
(A) 23 o) Tl
(C) 1
rd 4 ]
¢ gl is
The value of the determinarn 16
® 0
(A) 23 (D) None of these
c 1 |
b+c :
7. G } g c+a & AA €
1 ¢ a+b .
‘ +b+c)
A)  (l+a+b+c) B), (@ >
cy 1 | o 0
' 1 a b+c|
The value ¢f'the determinant |1 b c+a| 1S
|1 ¢ a+b
(A) (lL+a+b+c) (B) (a+b+c)
c 1 | D) o
7 11 13
8. ORI |17 19 23| HMAAE
29 31 37
A =3 B 36 .
C 20
" D A
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7 11 13

The value of inant (17 19 23
the delerm 20 3] a7
Al -36 B 36
1 20 D)  none of these
9. ﬂf‘: A=[ { -=]iﬁ1 A:‘ =
(Al 3A (B) 44
(€1 24 (D) TE A w A
It A=[_} ‘}] then A =
(A} 3A B) 4A
(Cl 2A (D) none of these
a h g
10 HER | h b f|F
g [ ¢
(A)  Faw wofoa g\{@ B3 A R
N
¥ < .
) Usis 3055 (D) 3 A ®E AR
N\
N\
a h g
Matrix |1t b J | is
g [ «c
(A} skew symmetric matrix [B)  symmetnc matrix
(C}  unil matrix (D]  none of these
11,  3THS THE xady + podx =0 & 6 B
2 2
x° Y 2 42
) e T=k ® L=k
Cr  xy-k D 39 | &% =
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Solution of the differentinl equation xdy +ydx =0 is

2
2. 2 ¥
(A) %—+-‘%—= K (B) 5 K
(C) xy=Kk (D) none of these
12, oraee wiE MY o o d
y?
d_k | X ok
(A) == k (B) yg
(C) § =k (D) ¥ § FE AR
Solution of the diflcrential equation ydx - xdy =0 is
. y2
Y X
(A) ==k B) ==k
X yg
(C) ﬁ =k (D) none of these

S dy ' ;
13.  3Thce] AHET 52+ Py =0 T FHEHTH o §

() Jodx | | B e [Pay
©) eIPd.t (D) 'Elgdy

Integrating factor of the differential equation dy +Py=0Q is

dx
(A) e-[ Qdx (B) ej Fdy
(C) c'-."['nd"r (D) EIOL*U
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(A) 0 D) |
(C) -1 (D) J
5. [Xuzl-
W 12y x) B |yxzl
i = =p =F
() I;z y) D) |z x yl
d o _
16 -d_\-(c ) =
(A) Exa B) _3x*e*
3
(©) /"‘2‘3‘2 AL ke
17 "Ei"ﬂﬁg 3.1'] =
dx
$
g\\
Y | B) log3
3% O
-@Q
(C) xlog3 (D) 1

X
(A) - 12 +e* (B) cosecx+e
sin” x
X
(C)  -cosecxcotx+ e* (D)  cosecx.cotx+e
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Kx(ixj)=

A) 0 | () 7

(€) :: (D) P

[1op2dx =

(Al x+k B) log2+k

(€C)  xlog2 +k ujl x2 log2+k
s & ¥ § e 6 AHF FlaRo o &

Ay grprEs0 B X+fizo
@@ =-2-%-0 (D) T | & T

x Yz X z_
(A] a +t=.i ¥ C (B, E+%+-E-1
(C} f—%-%=0 (D) nonc of these

22, gafag @ fag (-3, 4,-5)HW g ¢

(A) 6 . B 52

(C| 50 (D) T ER
The distance of the point (-3, -4, -5 ) from the origin is

A} 6 | B) 52

(C} S0 (D) nonc of these
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23, (-4, -3, 7) A (-1, 1,-5) F M a}ghd
(A) 12 (B) 13
(C) 14 D) T A WS R
The distance between (-4, -3, 7 ) and ( -1,1,-5) is
(A) 12 B) 13

(C) 14 - (D) none ol these

2. a a3 D At e, @ p(4)er(£)-

@ 0 B) 1

© -t | (D) ¥ § FE T
If A and B be two events then P(-‘—;—-)+P(%)=
(A) | 0 '- . . B 1
< =1 o (D) none of these

25, E‘i—(sin.?x]r:

(A) cos2x - (B) ﬂ%_?_&
(C) 2 sin2x (D} 2cos2x
26. a%(—(tankxh
) N
(A) 39.:2 kx | (B) ksec® x
sec” kx . o ksec?kx
(C) T .
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27, fix+2)dx=

(A) (x+2° kK : @ Ttk
IQ} 1%2*+2x+k (D) iuglx+ 2)+k
28. [’ dx=-
A) 4 B), 2
c 3 o 3

29. J;lz cosxdx =

A1 | B) =1
(C) 0 (D) '2

30. Isiqx, cosxdx=

(A) -21-sin2x+ k - | (B) 3‘; Xk
in? x cos? x
(©) st +k (D) --—2—+k

31, L(log/x=

1 B _1_
[A.).-- 2/x | (B) P |
. | (D) "Ji;‘
2
32. fx—g(sin 2x) =
(A) 4 sin 2x ' . (B] z 4 CO&E 2x —
(C) -4sin2x D) 2sindx

[ 121/327 ] 1 [(A]-9003-Ias) | Page 10 of 32
Download all NOTES and PAPERS at StudentSuvidha.com



http://studentsuvidha.com/
http://studentsuvidha.com/

dx
}f\] e' ™ (B) (x - a)eX™
(C) et |D] X
1y .
349, E—':i(r 1 ) =
X
(Mf/' R (B) 12x?
(C) 23X (D) 24
33. a%(‘fx" b ax + IJ =

' ' X+a
(A) — (B) ?x+a
2Vt +ax +1 2 x? Fax+1

|

2x +a
(©) > (D)
x2+ax+l / 2x2+ax+1
d 2x,
36. -(-!T(QE ) =
(A) 2e-X (B) e2x
(C)  de™" - \\@ (D)  2e*
6 .
37. L logx")= &
dx Q\Q
1 @$ _ .
(AJ/ T (B] n
X
1 n
© = o) o

38. 3% A={a,bc}),B={1,23} I f={(a,1),(b,2)(c,2)} A [ FW G ¢ ?

D) A

() U eed
D) THF DTS

(C) 3 ATDBIRH

R —
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at type of a
f A=ta.b,c). =123 and [={(a,1),(b.2)(c,2)} then wha

function is f?
many-ong into

(A} onc-oncinto T (B)
(C) many-one onlo (D) onc-one onto
& » 2
30. Rk [:R >R, T f(x)=3x-4,7 £\(x) Pt & i &0 2
! P
(A) 5(.t+4] (B‘)’ 3[..\" 4}
(C) 3x-4 (D) RS
, . -1
If f:R »Rsuch that f(x}=3x -4, then which of the lollowing is f (x)?
! 1
(A) _3{.\'-!-4) . [B] 'E(x_4’
(C) 3x-4 (D). *. undefined

40. cosec™! (- x]=

(Ap/ %- cosec”lx O (B) nx-cosecx
(C) coseclx : (D) - cosec™ x
41. TR A=[45“ ?],5:[‘56 _?],ﬁﬁ’A=B N« FIAAE
A 1 ' -
(A) (B) Yy, 1
() 4 . (D) THARE T
If A= [4; ?] B= [‘56 - ‘1’] when A = B, then the value of a s
(A) 1 B -1
C) 4 _ (D) nonc of these
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42, tan '1=

https://www bsebstudy.com

(A) n (B) ';'
cC X3
€ 3 © =
43. coa[scc_l x+coscc‘1x}=
(A) 1 B) -1
s
< o l
(D) "]
0 —sin0
a4, |coso _sinol
(A) cos 20 (B) 1
(€ O (D) =1
4s. cos2x dx -
J.('.sin.:f+tr:a::as.:nr:]2
{A) 2log(sinx+cos x)+c (B) _ log(sinx+cosx)+c
(C) log (sinx- %ﬁ@f! +C (9) - sinxi cCoOsS X
&
46. tan'y3- CO& -J-l-
. _ I D =
(C) z | ),, 2
. 111
47. AT A=|1 1 1|, 7 A%=
111
A, 24 (B) 34
©) 57A (D) 'ﬁﬁ@ﬁ“ﬁ
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48.

49,

111 ,
If A={1 1 1], then A® =
1 1 1

Al 24 (B) 34
[C) 27A (D)  nonc of these
a.a-
(A) O (B 1
-, ) -
€ a| D) lal

TR |al=2 3R ra OF 56 W @t L W ATE .
B 5
e

(D) T FIE TR

(A) ]
2

- -+
If |a]-2 and X a is a unit vector then A has the value

N
B =

(A) 1 5
(C) 2 (D) none of these
- -t - A
xi+yj+zk W AH §
A)  x*4y?+2° | ® , Vol +y? 4 22
) Jx+y+z (D) . 12
' Jx +y +2°
- -» -
The modulusof x i +y j+zkis
(A)  x?+y?+ 2 (B) Jx:‘) +y? + 2%
1

(C) Jx+y+z . [D) ﬁ:
2 2
ey e g2
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SCC X dx=

51, _|'

(A)

sEC X+ tanx

tanxt+sccXxX+k

(C]/ secx+ Kk

52.

l1—cos2x 4.

dx

1+cos2y

(A)
C)
53. Icut2

(A}

(€)

56.

(c -1

tanx+Xx+Kk

_"(—lEI['l2I+k

xdx=

cotx—x+ Kk

—colx—-x+k

I;x dx =

(B)

(D)

tanx—secx+Kk

tanx+ k

(B~ tanx-x+k

(D)

(B)
(D)

(B)

(D)

(B)

(DL

B),

(D)

X
=+ K
tan2+

Qcotxcns:czx + Kk

x+cotx+k
s

N

wl’s

w|—

1

X
2
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7.

S8.

59.

60.

6l.

62.

fldx__

Dx+1"

[M/ log2

(C)  2og2
=/

L Tlogeot 0.do =

(A) -g—lngZ
(C) 2nlop2

/2
I Jcosx|dx=
-x/2

Ay 2
(C) 0

n/2
I / cosi d“-:

0 cos0+sind

(A) T Q
N

T &

© 3 \@
@Q

d . s

—d-x——(lan xX“)=

(A) see x?

(C) 2x? sec? x2

% Jeot x )=

1

A 23::01 X

2Jcot x

(B)
()

(B)

(DI

B)
(D)

(B)

(D]

(B)

(D).

N A

P

2.\:3&::2 x2

sec x
2x

cﬂsccix

OOBCCQS

2Jcotx
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63.

64.

65.

66.

67.

Ed;i"i“"ﬁx“‘*x’n;

1

LR -‘--L
= nsxs%

(A) _
Vi- 22 . JI - (3x - ax3 2
(C) S 2
1-x? o) | - x?
%{sinﬁlz
(A) cosVx (B) cosJx
Jx
(C) /71._.;.1::03& (D) Qj_x..cos&
:E-;[Ztan_]x)=
1 2
A
f J 1+x2 [B) 1+x2
1 1 1 1
o i D) 3
R T U S
d | lim x —a” =
dx X—»s X—a
| -1 |
(C)/‘ 0 (D) n
-d%:-{sm 1 Jx +cos™ J;} =
n B 0
w3
i
a 1 O x5
Page 17 of 32
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(A} loglx+1l+k _ (B) -log|l+x|+k

(C) logjx-1]+k (D) logx+k

69. HTFHA THF (ﬂJ3+2(ﬂ)a+gy= sinx Pl FIE §

dx? dx
A 3 B) 4
€ 2 (D) T R EE IE
/ N
| 3
. . . d?; dy . .
The order of the differcntial equation [ J] + 2(—-—-] +9y=8inx1s8
dx2 dx
(A) 3 * (B) 4
(C) 2 (D) none of these

x<+1 .
N
N\
3 N 3
(A)  Z-+2x 3k (B) Z--2x+k
Q\Q 3
s s
JCJ -’g—+x+k_ (D) is——.u-k
x+1 W m2
71, UG 02], 03=1 T | © x+02 1 |=0@ x=
m2 1 X+ W '
(A} 0 B .

© o O ¥R
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3 X+ ) m 02
IlNnwel, 0= nndl o X+ 1 |=0o 1i1¢.
1] 1 X+ iy nx
(A) 0
(3) 0
(C) 2

(D) nonc of these

72. _jengsa - s . \
tlﬁ A—[Rintl cogg] JHIT A 'FA’-—-Lz, Gl =

W | 2
©  F () 2
I A=[ ot "8 and A+ A= 1y, then u-
’ A = ® -z
€ F | @ &
73.  AUH T IRE T A A + 4 3G S FT
| {A)/ Fmﬁ:l?r H=E | (B) faE ’ﬂﬂfﬂlﬁ NHE
(C) hTé SE - (D) ¥ smzg

A is a square matrix, then A + A’ is necessarily

(A)  a symmetlric matrix | (B) askew symi~etric matrix
(C)  a unit matrix (D) azero matrix
= | 1 0| afir a2 e
74. , m A:[?’ ?], B=[2 1] m A =‘Bl att A=
(A) -1 o B 1
c 4 . (D) FH AR

[121/327 |1 (A)-9003Igs) | Page 19 of 32

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

75.

76.

77.

] O
If Az[} {1)] ”""[2 l] and A? - B, th_cn b=

Ay -1 B |
(€1 4 | (D)  nhone of thesc
afg .-1=[§, ?], a

Ay A @ e B [Al=0

€ Al F T T D) TR FE

If A=L1} ?], then

(A) A lexists | (B} . |Al=0

(C) A docs not exist ' N (D}  None of these
el 77 o @ s A w T ¥

(A) 1‘ ' B 2
 3° - (D) ¥

The number of unit vectbr(s] perpendicular to a plane is
(4 1 . (B) 2
c} 3 | (D)  infinite

- — - -
(A) a.b=35 (B) a.b=-5
| - - ' “
(C) a.b=0 ' D) T /%
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Ifa=2i —j+2k and p = —*T'l'—.?"-':.ihcn'
(Al a.b=5 B a.h=-5 .
(C) a.b=0 . (D) none of these
78. |aaal=
A) B) o0
C) «a D)y -1
79. ?x:=
(a1 R\
—
© J e -J
80. axb-=
-> bxa
A Bxa O B
N
e D b.a
€ ag¥ | |
$
81. ;e"‘dx=
(A} . {Bl g-l-].
{D}' l1-e€
c e-1
d | lim ]
82. = ;0c053x .
. B 1
o O

(C) '~ 3s8in3x
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83,

84.

85.

86.

87.

88.

L Jx)-

A 1

ok A
]

© 3R

cos-ll".?__tl.]-si]‘[—](2_"l=-0-005|nu-- "y

7

(A) 5
(C) n
sin"!{-x) =
_ p
(A) >~ sin X
(C) -sin'x
col'l—l—= ceereenieny (X > 0)
X
(A) —céuL T x
_ ‘\\Q@
(C) lan&%:
&
10 248
35 -
(A) 140
(C) .35 ;
1 0 0o 1] _
(6 9)+1% o]+
2 0]
w29
2 2]
o |33

1
® 5
o 5%
2x e|-1, 1]
r
) 3
oy ©
.
(B) sin”! x
(D) %+ sin"'l X
-11
(B) tan -
(D) cot ! x
(B) 70
(D) 0
® |3 3]
(1 1
o i)

(121/327 1
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89. -a-‘:!f|5x]=

A 5*
s B) x5!
X
C ‘—5-—u
€ log5 D) 5%.0g, 5

n n
9.  [lotxidx s [T alxidx «

> "
(A) 2Lm{x} dx (B) QJ;:‘ plx) dx
€ o - D) 1

- -
°ol. W alb,Ma.pa

A1 | (B) -1
€ o (D) ¥ | FKE T
¥ aLlb,then a.1 <
A1 S X B -1
() O ' (D) None of these
-+ = = .
92. i.(jxk)=
(A) O B 1
€ - D) 2
93. Ilogx&= :
(A) %.,.k ; (B) xlogx+k

(C) xlogx-x+k (D) xlogx+x+k

[121/327 )1 [{A)-9003-Ii3%
Download all NOTES and PAPERS at StudentSuvidha.com

Page 23 of 32 https://www.bsebstudy.com



http://studentsuvidha.com/
http://studentsuvidha.com/

Al

99, 5 =
(A} © ®

© -1 o .

m‘ma:nfﬂ%.m

TH T @1 x, y AR 2z 3T & yq fgon & ary w0 L

(B) gin? a+sin? p+ 50

95.
2421

(A) CDS?‘G+CI‘.332|]+0032-"+] =0 -
2.,=-1
’ - 2 05 f_
(C) cos? a+cos? i+ cos? v=1 (D) cos? a+cos” €
y and z uxes

. : x,

If a linc makes angles a, fand y with the posiive directions of
respectively, then
I . . . 2 H 2 =1

(A) m52a+cosgﬁs+coszy+1=n (B) 51n2a+slﬂ f+sin 7

2 24=1
(C) cos2a+cos?B+cos?y=2 (D) - cos?a+cos”p+cosY

96. WA (@A 2x=3y=-z AN 6x=-y=- 4z P 91 H BT €

w 3 (8 0
© g o g

The angle between the Siraight lines 2x=3y=-z and 6x=- y=-—4zis

(A) (B) O

ST

(D)

FES

(C)

o=

97. AR A, B #HR C AR @ 6 &, @

(A), P(ABC)=P(A)+P(B)+P(C)
(B) P(ABCJ=P(A19P(B)LP(C)
(C) P(ABC)=P(A).P(B).P(C)

(D} &9 ¥ &% =&

[ 121/327 } I [(A)-9003-I@y) Pagc.
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If A, Band Care three independent events then
(A) MAmmrPun+p“n+mC]

(B)  P{ABC)= P(A)-p(n)-P(C)

(C)  PLABC|=P({A),p(R).P|C)

(D) none of these

98.  P(A)+P(A")=

(A) o ® 1
c -1 D)  P(S)

99. 1-P(A'NB'})=
(A)  P(ANB (B) PAUB)
©  PlA) (D) (P(B)
100.  Z = 3x + 4y T SRR

Eﬁfﬁ?w x+ys4

x20,y20
S\‘&\
& S
\Q‘Zr
\ | 12
(Aj 0 @$ . ™ L4 Ly
(c) 16 D) - FH B T
The maxlmum value of Z=3x+4y
"
SubJECL 1q conslramts x+ys<4
: x20,y20
e B) 12
A > ' (D) none of these

(C) 16

112173271 |(A)-9603-1t39ﬂ Page 256132

.Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

WUg - ¥ ) SECTION - B

oy IWAT wv / Short Answer Type Questions
Gt 15 wF & gar &1 9w &

ST wear 1 ® 30 0w g Iy F1 gad @
2 siw Fraift &1 15x2=30
jons. Each question
Question Nos. ] to 30 are Short Answer Type. Answer any 15 questions ‘c.-}s fug stion
carries 2 marks.
2

1. TRTEHE &1 j'ms?.»:dx.

Intcgratc Icosz x dx.
2

2. gﬁ fqertel, 31 y = sin(log x).
X

d o
FiEd E%' when Y = sin(log x). 2

i &1 : xdy + ydx=xy.dy.
Solve : xdy +ydx=xy.dy-

qreReT _[J1-sin:‘a'3£ dx.

3./

4'
i ~sin2x dx.
Intcgratcf p&sin 2

cosllogx) 4, w1 F A HX!
5. = |
efﬂiﬁg.&ﬂdx.
|

Find the value of

nlzloglaﬁ»xdx =0.

fam 7 [
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Ly

7. Hy i
dx rm?"‘!' 'ﬁ‘q x:la l.'“gz n' ‘If=‘l !‘ii]"l2 o, 2
. - o

r

{

Irir{(l dy whe 2 2
| dx ’ on x!:ﬂ'c”.ﬁ "y, _fl‘-'—"ffﬂ‘“ {",
8. 2,0 -b - o
o I T =3 & g (1,/3) W T Frmre 2
Find the slope al the point [l,ﬁ) of the curve x? +_:;2 =3.
9, o a~-b b-e¢ c—a
s R (bec ecq 05| @ T Sl 2
C-a a-b p-c

Evaluate the determinant

noTR

a-b b—-c c-
b= c—-a a=
c-a a-b b-

2

10. T9s % ke (5,-4,2) allt (2, 1,-3) TF TR | T8
Show that the vectors {5, _ 4,2)and {2, 1,~ 3 )arc perpcndicular Lo one

another,.
-p -+ -3 )

11, “axb e, eI g =27-3K, b=3i+4;.
- > - - -» —+ -
Findaxb,wbcrea:{@)@:%k, b=3i+4].
- 3 = N n ~ b4
12. 3® a =(2.3.-5) agé%qz,z,z],ﬁmﬁm a 3R b % = w0 A HN 2
. $Q\ I .
Ir Z-_—[Q 3_-5&31151 3 =(2,2,2), then find the angle between the vectors

- >

a and b.
e e | 28750 26| =0 2
‘“ . fag 46 =0.
18, 65 45 20
. 23 11 12
' Prove tha 65 45 20
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w/.gg el 7@ y=Jsindx . 2

FFind %%. when quninJ;,

. < 2
15, ¥ R o o SinTx 2

dx y Jcosx

- 2
Find -c—l‘y—. when y=m.
dx CO8 X

16, F K f:R - R onto § TafE f(x)=2x ? RV | 2
"

Is the function f:R -» R onto function where Jx)=2x ? Give reasons.
17. G =tfs sin'l-———J;—=mn‘1 X

Jx+a a’ ' 2
Prove that sin~! Jx = ‘IJE.
_ . Jx+a a
2
18. fae=tfs tan(isin'lk—?i—+lcos'll-x }= 2x . 2
‘ 2 T+x2 2 1+ x? l—_x2 '
Prove that lan(-“‘-sin_l —2X_,Loos! 1-x2)= 2x
2 |1+x2 2 1+x2) 1-x2
Y It I"'2
8 .
19. TF et fim Z‘n—s. _ _ 2
r=| B

n 2
lim r
. Evaluate | | El—na .
rm

20. x3E AR T y=sinx%ﬁax=0ﬁx'nﬁﬁﬁmmﬁmﬁl 2

’

Find the area between the x-axis and the curve Yy =sinx, from x=0 to x = x.
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2L w1 3y
wi lBﬂde*-lnnxclyzo
. 2

Solve ; .
ve . lanydyx tlanxdy. g

22, ¥orwy

Solve :

" y(l+ *yldx - xdy = o
- . 2
Y(l+ xyldx - miy = g

23 E'Fﬂa‘ﬁ —-+l--e X+y
| i 2

-.’
ﬂ.

o
a--

Prcvcthat(a+b]( -g]:az—bz-

25. !ﬂ%A=[:c ;}.ﬁM'Wﬁm-l
x2 g2 '

1 1
If A=f{ x y |, then find AA’".
x2 y2

2?%;’“ 71 9 x &1 w9 T m
T st

Find the value@%c from the following :

-[Qxa—y 3}(3 _g)

|16 97

27.. GRfoRF (23 16 7 | 1 HH 0 H

e 32 19 13

a 23 16 7

_ inant |23 1 .
Evaluate the determinan 32 19 13

[ 1
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28.

20,

30.

WA T x A -3k #

TR L & T e 450 3R 60° & HY
T RT3 E Fram & a1 e ity i) 2 5
A strad frvee . .
ACSIraipht line mnkey nnples of 45° and GO wilh the positive direction af the
X andd

t ; - . .
H-axes respectively. What angle does it make with the positive dircction of
the z-nxis ?

OG| WM 3 ~
-l T forris x, y 30 5 3w sETe A 3, 4 3R
-5t

2
Find the ¢ Jquithion of the p)
respectively 3. 4 rna g Plane whose interoepts on the axes of x, y and z are
Ak Pwtﬁ' P(B)-; PANB)=1, a1 p[A) ey pf B frsi 2
2 4 Bl 'E‘," .

- 3 1 il ’
T PLAY=F . PiB)=and P{Anﬁlf%. then find P(-g—,) and P[%).
T g Wi / Long Answer ‘l;y-pe Questions

mmmﬁaazniﬂﬂum%l:aﬁﬁﬁﬂuﬁ#mmm%fm

5 3% faatfem ¥)
| | . 4x5=20
Oucsr_tort Nos: 31 to 38 are Lung Answar Type questions. Answer any 4 guestions. Each
queslion carries 5 marks. 4x5=20
x =
3. IR tanlx. g Vy=d | q
S LN x+ tan Yy+tan A;E,mfﬂﬁﬁﬁﬁ Yyz+ zx+ xy=1, 9
. -
If tan™" x+tan 'y-'r tan™! z=-%. then prove that YZ+ 2x + xy =1,
. BILE c]2 a* a?
32 ApEs FEe | 22 (csaR 2 5
2 2 2
N c c (a+ b)
b+ le a2 a?
Factorize | b° (c+a)P® b°
c c? (@ =+ b]2
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33 Farr ane , 11 2 5 3
L ¥ "J-,H_ﬂirl 145 I."lf"l_l . H‘I'.-T' AR }'q'—_ .'1'—;1 '1" g H= :I’ ;lz f )
|1 :
o , 11 2 5 3
Frove that (agy ' =5 'A7' , where A % ; 3 . B= :1; ; ? .

dy <
34, a—:m‘“ xy+y.‘u],
Find Ez when x¥ « Y=l
dx -’ y
15 d9%AA F: j'mn"‘xdx
4
Integrate Il:tn xdx
36 Bl e qx? - y21ﬂ= 2xy
dx

e (o2 2y 9Y
Solve  (x° -y ]d.x 2xy
37  AF 3x+4y-5z=27F q{{@ﬁﬁi (3,1, - 4 ) & wfafea e @i

N

Find the image of ll‘@&’mm 3. 1, = 4 ) with respect to the plune
3x+ 4y Sz= 2$Q

Y
38 HUFHAHH UG TARHEIY &L

i ax o+ 100y

FafeR o+ 2y <120

oy 260
x-2yz0
,;,y:’ﬂ
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Maximize and minimize Z - 5x 10y
subject (o X+ 25120
Xy 60
x 24>0

X.y20.
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